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The basic idea of the greedy approach
Is to calculate the ratio value/weight for
each item and sort the item based on
this ratio. Then take the item with the
highest ratio and add it to the knapsack
until we can't add the following item as
a whole, and at the end, add the

following item as much as possible.
28-Sept-2022

®] https://byjusexamprep.com » knaps...

Knapsack Problem Using Greedy
Method - Detail, Algorithm, Example
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Algorithm

Step 1: Get the two inputs, the positive value of n
and the non-positive value of k which denotes
the k-th binomial coefficient in the Binomial
Expansion.

Step 2 : Allocate the array of size k + 1 with the
value of 1 at 0-th index and rest with value 0.

Step 3 : Next, generating the sequence of
pascal's triangle, with the first row containing
single element valued 1 which was already
created in step 2.

Step 4 : Further next consecutive rows of
pascal's triangle are computed from the previous
row by adding the two consecutive elements, but
step 4 is to be carried out upto k-times, for
enclosing n-value times.

Step 5: Stop.
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The 0/1 knapsack problem means that
the items are either completely or no
items are filled in a knapsack. For
example, we have two items having
weights 2kg and 3kg, respectively. If we
pick the 2kg item then we cannot pick
kg item from the 2kg item (item is not
divisible); we have to pick the 2kg item
completely.

V hittps://www.javatpoint.com » 0-1-K...

DAA | 0/1 Knapsack Problem -
Javatpoint
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The two dynamic programming
properties which can tell whether it can
solve the given problem or not are:
Optimal substructure: an optimal
solution to a problem contains optimal
solutions to subproblems. Overlapping
subproblems: a recursive solution
contains a small number of distinct

subproblems repeated many times.
01-Dec-2022

,ﬂ’j https.//er.yuvayana.org » what-is-dy...

What is Dynamic Programming:
Properties & examples - Yuvayana
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e ALGORITHM Warshall(A[1..n, 1..n])
//ImplementsWarshall” s algorithm for computing the transitive closure

//Input: The adjacency matrix A of a digraph with n vertices
//Output: The transitive closure of the digraph
R({U —A
for k<1 to n do 2 6
fori <1 tondo
for j <1 tondo
R™[i, j 1<=R“V[i, j ] or (R*V[i, k] and R* V[k, j])
return R"”

3
e The time efficiency is only ©(77).



